M 0.3 SenZE Jar-23

Paper / Subject Code: 66703 / Corporate Finance

(2 Hours)

Instructions:

[Total Marks: 60]

i.  All questions are compulsory and subject to internal choice.

ii. Figures to the right indicate full marks.

iii. Make suitable assumptions whenever required and state them :

iv. Use of simple calculator is allowed.

QL.

A) Complete the Balance Sheet in the form . glven below using . the undermentioned

o:llozlzaz;_w

information: \ (15]

Sales - 3 Rs. 36 Lakhs..
Total asset turnover 3
Fixed asset turnover § &
Current assettumover<-' 7.5.

| Inventory-tumover 20 -

| Debtors turnover - 715 + NG
Current ratio = 2 O 3
Total assets/ net worth 2.5 = LU
Debt — equity g . 13 ,.‘:‘:
.All tumover ratios are"based on. sales - e o

]ialance shee't"és on 31 March 2021

5| Rs. (in'Lakhs)

[ Liabilities [ Rs. (in Lakhs) [ Assets
Net worth [ . N Fixed assets: S = 2
Debt sy &7 J'Current assets: .~ =
Current liabilities <> ? = Inventories =7
I(E i ) . ~> | Debtors BB ?
= ~ Cash and bank balance . * ?
Total. \ 3 2 Total ‘ ..“‘ ?
5 F OR 3
&‘ : Q 1 . S ""\” N :
" B) From the followmg statement calculate
y Debt- equ1ty ratio  .:’
A il .= Propnelary ratio -
' iii. ~ Solvencyratio - ~
iv.  Fixed assets to. net worth ratlo
A Current assets to net wortl] ratio
) © VI ,leed assets to long-term funds ratlo
= (08]
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Paper / Subject Code: 66703 / Corporate Finance

Balance Sheet

e e —

Liabilities Rs. | Assets Rs. |
Sharcholder’s Funds: Non-Current Assets; 2,19.810
7.500 cquity shares of Rs. Fixed Assets (Less
10 each fully paid up 75,000 | Depreciation )
2,500 10% Preference Current Assets: o
shares of Rs. 10 cach fully 25,000 | Stock 49,460
paid up
Rescrve and surplus 84,500 | Trade debtors 11,710
Non- Current Liabilities: Cash at bank 26,020
7% debentures 1,00,000
Current liabilitics 22,500

3,07,000 3,07,000

Ql.

C) If Mahesh deposits Rs:5,000 at the end of every year.in a bank for 5 years and the bank is

paying 10% interest, calculate the future value of this annuity., ;

Q2.

(07]

A) Modem Chcmlcals Ltd. rcqulrcs Rs. 25,00,000 for a new plant. This plantis expected to

_ yield carnings bcforc interest and taxes of Rs. 5, 00 000. While deciding about the
financial plan, lhc company considers the objectives of maximizing eamnings per share. It
has three altemnatives to finance the project by raising debt of Rs. 2,50,000 or
Rs. 10,00,000 or Rs. 15,00,000 and the balance in each-case by issuing equity shares. The
Company's-share is currently selling at Rs.150, but'is expected to decline to Rs. 125 in
case the funds are borrowed in excess of Rs. 10,00 ,000. The funds can be borrowed at the
rate of 10% up. tp Rs. 2,50,000, at 15% over Rs:-2,50,000.and up to. Rs. 10,00,000 and at

20% over Rs, IO 00,000- The tax rate apphcablc to the, company 1s '50%. Which form of

financing should thc cqmpany choose?

Q2.

OR

[15]

B) From the followmg Capltal structure of Angad Ltd calculate overall weighted average

~cost of capital based.on
: x) Book value weights

ii) Market value weights

[15]

‘Market Value (Rs.) | After tax cost of

Source Book Value (Rs.)
: different sources
‘Equity share capital 15,00,000 20,00,000 15%
Retained Earnings 5,00,000 5,00,000 12%
Preference share capital 12,00,000 15,00,000 10%
Debentures 8,00,000 10,00,000 8%
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Q3.
A) The following details of Ditya Ltd. for the financial year 2021-22. (15]

Operating leverage  5:1

Financial leverage  2:]

Interest charges p.a. Rs.10 lakhs

Corporate Tax ratc ~ 30%

Variable cost as percentage of sales 65%
Prepare the Income statement of the company.

OR
Q3.

B) Suraj Engincering Ltd. belongs to a risk class for which the capitalization rate is 10%. It
currently has outstanding 10,000 shares selling at Rs. 100 each. The firm is contemplating
the declaration of a dividend of Rs. 5 per share at the end of the current financial year. It
expects to have a net income of Rs. 10,00,000 and has a proposal for making new
investments of Rs. 19,90,000. Calculate the value of lhe firm when dividends (i) are not
paid (ii) are paid usnng M-M approach s [lSI

\,‘

-

-

A) Multiple Chmcc Questlons , : : (8]
1. Mr. Kumar pays equal instalments of Rs. 1,50, 000 in the begmnmg of each year for 5
year @ 10% rate of retum. (PV faclor for 5 years @ 10% is 0. 3791) What would be

the present value
- a. Rs.62,551.5 D
b. Rs.62,051.5 AE e >
c. Rs. 62,3525 ._;;r:‘ . &
d. Rs.63,052.0 ' &
2. IfyouinvestRs. 2, 000in a bank at s:mple mterest of 8% p.a. What will be the amount

. at the end of two years? . :
Rs,2,320 -~
Rs.3,330 . = R
Rs. 2,400

el

1oy

d. Rs.2,230 o <
3. “is considered as the principle financial objective of the firm.
Welfare of the society
Shareholders wealth management
Welfare .of management
General-welfare of the employees
4. From the following, -is not a limitation of Financial Management.
a. Non-financial objectives |
b. Cannot satisfy all the stakeholders
c. Internal factors
d. Extemal factors

faoow

fe o

21399 Page 3 of 4

TF408B8E40C54B265D9AACCBTOT8EBCDO
Swdilieu wiul udiined



s

6.

7.
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Current Ratio
a. CA

CL
b. BF

PF
c. QA

QL 2 ;
d. PC+BF .‘ - 3

EF \,g ey R

COGS (cost of goods sold) oy Sy
a. Closing stock + Direct Expenses- Opcnlno stock* - o4
b. Opening stock+ Purchase-Closing stock ‘
¢. Opening stock+ Closing stock- Sales
d. Closing stock + Direct Expenses Openmg stock -~ .
Optimum Caprtal structure implies a ratio of, debt and. equlty at when Bk _would

be least and market value of the firm would be hrghest \:

a. Margmal Costof Caprtalx .-f 5 f@ ,:
b. Welghtcd Average Cost of Capltal ) :‘3_{‘- g ,
c.-.Cost of Debt 3 & ’ L%, ‘ ‘:.-:

d. Opportumty Cost < - > e

8.5 The source of caprtal used to get ﬁnancral leverage ist ”
‘\-‘ I a. leed Deposrt ud =5 A
== b. Equity Capital \;{-_s \ & o A
\‘” +Debt Capltal ooy .;:;\" i) o o
S0 dr Short tcrm loans ~ e /\ ‘r:'.'-. :-:
Ry o o W
e Q4. . & ; , K
)’True or,False & < < 3" _ [7]
(-"f‘ L. A bond carries a speclﬁc mterest rate known as the cpupon mte.
20 PVis multlplred by the compound factor to find out the future value.
i ;%‘: A, 3. The.control functlon of the. CFO becomes mele\?ant once ﬁmdmg has been raised.
A _.\'?: 4, A-firm’s Debt/Equity ratio (D/E ratlo) mdlcatmg its risk and return profile, and
o5 Jhence its overall value.becomes an important factor. -
S 5.+ Quick Asset is equalito Current assets + (stock—prepard expenses).
;,?1 ﬁ‘ Price Earmngs ratio is applred to determme the» expected market value of the
l shares ofa company " 3 ‘~
r‘\ T Operatmg leverage analyses the relatlonshrp between sales level and EPS.
& ; o ORY
'.::, \Q4- e
C) Wnte short notes: (Any Three) A [15]
aa, Proﬁt maxrrmzatlon 0
A b CAnnuity ¢
7 ¢, - Stock Turnover Ratio
d.." Cost of Retained Earnings .~
& Net Operatmg Income Approach
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